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Note #1: we do not employ the rules of nullification (51v23) to an item which has a permissible format in which it can be
eaten; for instance, noaz pon, 52v (which can be repaired); this rule is 503 85 9582 1529K8 pP1np 15 W 137

Note #2: we do not allow nullification as a mechanism (75nn35) — rather, once there is a mixture, we apply the rules of
51023, Most ooa1wn7 (except for 77a87) maintain that the prohibition of using something which was manipulated into 522
is 72277 The rule does not apply to rabbinic prohibitions, although the specific parameters are subject to dispute.

I.  Further analysis of the 4 Amoraic approaches to explaining 0"’ P79V N2 NYIR NOR
a.  wn77x indicates that V"2 nNTY1W N¥*a pav is prohibited
i. Challenge: to pnx’ "1 9oV 1 who explain the prohibition as being 131397 (82105 13297 pav)
ii. Amnswerl (’orp): last clause (1OR pav) refers to a N97v pPav (not V1’1 NTHN Pav)
1. Challenge: it should be va since it is not a 10N 1 W 727 (unlike V"1 NTHNY N¥*I)
2. Suggestion: eggs are significant and not liable for nullification
a. Note: only works according to 5"’s explanation of n”1 (n%):
i.  mp5 1997 items sold by count (not eyeballing) not subject to 91072
1. »”719779 nR - items which are always counted (not eggs)
2. 57119779 3 - items which are sometimes counted (incl. eggs)
3. Answer: our Rn follows nT7 7 in the name of Wiy 1 (“my>ep X097 RIN”)
a. Items: which are ever counted, even if only 1132771 D™ 110X are never Y01
iii. Answer2 (»wn 77): last clause refers to 210 D12 NTHNY PR PPN 1Y WY 927 includes 131277 DMONR
I xpa (X7 DY DINR) — V"1 NTYNY NXa: the chicken and the egg are permitted
a. ~7r’rundesignated chicken;
i. If he slaughters it, clarifies that it was 9mmn and egg is also permitted
ii. If: he doesn’t slaughter it, clarifies that it was n¥pn and egg is likewise n¥pn
b. 7177 “Rnny” (mention of the chicken is excessive, meant to strengthen the point) —it’s a roaster
II. v"" naw following each other - status of egg laid on first day (/1) and permission to eat it on 2nd day ('®/1)
a. 37 prohibited; (even though he regards them as independent mwy1p) ; 13Ny 1 — permitted
i. Dispute: revolves around acceptance of "na7T Mdn”; predates DRINK
1. jp’m n"1 agree that it is permitted on 24 day ('®/1)
2. x”r positions hold (n"a prohibited on 24 day)
ii. Case law: regarding the ruling in this dispute:
1. 7278 72 878 77. even 1INV " agrees that the egg is 10501 170K on the 1%t day
2. x99 1. (who wouldn’t teach on v after the meal due to drinking): 273 na%n (prohibited):
a.  ~27 0990 follows a7 in these 3 disputes:
i. v naw.navw & Sv"y (prohibited)
ii. mm5 5w w20 017 2 days of V™ (permitted)
iii. /777 5w o210 oo 2w 2 days of N (prohibited)
IV. Fallen trees on v"v/nav
a.  jpnr /7. if they fall on naw, prohibited for burning the next day (if v"v)
i. Unlike egg: the prohibition on naw demonstrates the problem of 751
1. But: but people will think that the Mo>r of the wood on naw is due to inherent n1yan Moo
b.  /mnp 77 if they fall directly into the oven, add permissible wood to nullify them
i. No problem: of 150 MR, following a1
ii. And no problem: of N9 NN2% MR PHVIN PR — only applies to RNPNRT NOR
1. Note: »w& 19 (who extends pYvan PR to 131297 »MO'R) — here the MR is gone (burned up)
V. n¥nalaid on 1st day v re: eating on 2nd day:
a. 37 permissible; or 71 — forbidden
i. He was unsure: if the 2 days should be kept after we know the calendar (made n%7an after 1%)
1. ~7r 77 n3%n should follow »ox 19, since we know the calendar and yet keep 2 days
2. »an: naon should follow 29, since w/o the interference of the o3, we’d keep 1 day
a. Note: per nk1n from »”"R: We keep 2 days to insure against further mabn mm
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